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ROR & FH L, ROR & FYAEE L,
(1) 6x2y— 152y (2) 4x®+6xy—2x 1) x2+6x+9 @) a?—14a+49 3) a’+4ab+4b?
3) 3a%3c—6ab’®—2a%c? 4) 16x2—8xy+ y? (5) 25x2—20xy+4y? 6) 9a%—16b2
(7) 100x%— 49y (8) 50x2— 18y 9) 12a%2—27

RORERBORE &,
1) (x+a)y—(x+a) (2) alb—c)+2(c—0b)
3) (a—3b)x—(3b—a)y 4) alx—y)—y+x
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RO % RE R K
1) x*+7x+10 (2) x*4+6x—16
4) a?—25q+100 (5) x2+6xy+5y?
7)) x®4+4xy—12y° (8) x®2—5xy—36y2

(3)
6)
9)

x2—9x—36
x’—1lax+ 24a*

22— 2ax—48a?

ROA % RBAHEE K.
1) 9x%—24xy+16y2
(3) a*—T7ab—18b"
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(2)

a(x—2y)+b(2y—x)
(4) 8x%y*—18
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